1.0 A cantilever beam AB supporting a triangularly dis-
tributed load of maximum intensity g, is shown in the
figure.

Derive the equation of the deflection curve and then
obtain formulas for the deflection 8z and angle of rotation
Oz at the free end. (Note: Use the second-order differential
equation of the deflection curve.)
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2.0 Asteel beam ABC is simply supported at A and held
by a high-strength steel wire at B (see figure). A load P =
240 1b acts at the free end C. The wire has axial rigidity
EA = 1500 X 10° b, and the beam has flexural rigidity
EI = 36 X 10° Ib-in.2

What is the deflection - of point C due to the load P?
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